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Non-blocking I/O
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#include <fcntl.h>

if (fcntl(filedes, F_SETFL, O_NONBLOCK) == -1)

perror(“fcntl”);
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select (1)
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ArE 3
#include <sys/time.h>
int select (int nfds, fd_set *readfds, fd_set *writefds, fd_set *errorfds, struct
timeval *timeout);
= nfds: X{HQ S0O(E Z410 Y= WY 7|4t £+
QutXo 2 DX 2 = opendtALE HEA|Z] fd 4F + 1
" readfds, writefds, errorfds : 20| & 7}X| 1 Q= 0t 7|=X=2| &leh(bit masks)
select?} Ht=te|HA O] Heg=0= &A Atzd0] Yot o 7[=X&0| B E
[r2tM HH=510] selectE &5t 4% O == O CHA| 27-sHOF &

D DOHOFCH OHOFFIKHEAI JOL Y



select (2)

ANEE (A=)
= mtY|=AF Hg =78
= void FD_ZERO(fd_set *fdset);
= void FD_SET(int fd, fd_set *fdset);
= void FD_CLR(int fd, fd_set *fdset);
" timeout
“ NULL : AtAO| ojE M{77HX] &2
" 0:57 =29
= 00| Ottl Zt: KIHE A7t & 23
" return 4}
= QEA -1
“ EFROFRAl O
= 19 20|Yes I J|=Xt
" retum Z{0| %40 AL L7\ SR WSO HHE HE DLAAS SN SHols|of B
= OrV|=X =l 032
int FD_ISSET(int fd, fd_set *fdset);
of

if (FD_ISSET(O, &fdset)) {
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